319

LIFTER

40

FL ?
25-0.1 |15,

—0.030

#65-0.0a9

M8 &

o

&

"

H

ol B

X

A

2

~

*
»
3

*ZAMO—T TREF
nNEEE
$65 5%
(R17)
No. % ® e wE
1 | AZ1REY 1 | SO#50F
AbwN 1 | Steel
Coil Spring 1 | A7V B8R

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

FL 15 100 125 10
FLN 40 TF 96 170 75 125 10 125 10
FLT 60 | - 55 140 | 25
WARA7VJt#%
TF TF40-150 485 735
15 TL TL40-150 i 1022 S 1551
TF TF40-175 415 988
40 TL TL40-175 U9 876 s 2084
TF TF40-200 166 426 106 1178
60 TL TL40-200 181 502 121 2088
[ S N % ® AN
FLP (FLF) 15 FLS
FLNP (FLNFA) 40
FLTP (FLTH) 60
V748tvb AZ1REY AbviN
‘ Catalog No. ‘ ‘ ] ‘ - ‘7\7')‘/7“947‘ ‘ Catalog No. ‘ ‘ S ‘ ‘ Catalog No. ‘
Order FL 15 FLP 15 FLS
FLN 40 - TL FLNP 60
: 7N TayY
EE (P.329)
Example :; =/
"t
EfTE> FfTE>
. (P.329)
U7r—o T4
(P.329) | ‘i
_I H |1
— J
\i/ \i/
[\ /1\
BMZERICH=DT

FLNZA 7 EBEFROMERRICIEC TMIO L. ZFIALEZ,
REEDHD BB CIE BMETOIERITEDNGBITTLEZL,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

320



329

LIFTBLOCK-REARGAUGE-ADVANCEPIN

5 C5

(C
A\ -~

=

30

55

o S
”TL':FH (HE) SKa

)
©
FLRG
L
20 32
15 24
= 2 — A9
eEH 1 RF e 94#‘;“
ENEN | O Q
NS Kso“ :
7 ! ol
% el (HE) S45C
FLPPA

L1

¢d

(#E) S45C
L FHREBEA LI

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

e T7hT7Ovy

LFTB

‘ Catalog No. H
LFTB 50

Order
7=
FLRG

I!I ‘CatalogNo.H w ‘—‘ L ‘
FLRG 45 — 55

Order
40~ 60 M8x35
70~100 M8x55 40
FLPPA 30 50 - 60 M12x50 25
35 70~100 M12x70 13 20 45
110~150 M12x90 65
m ‘CatalogNo.H D ‘—‘ L ‘
FLPPA 30 — 100
Order
TE>EVTRN OV DAEDE
40~100
FLPPA 50~150 LFTBB
35 50~150 75 42

330

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



